 PROA~——
K- RACIIG,

SITILILADORES

MANUAL DE INSTALACAO DO DIRECT DRIVE

1 Lista de itens:
1.9 Parafusos

1.1 Servo Motor com Encoder 4 un. M8 X 35
1.2 Adaptador 70mm eixo motor 4 un. M8 X 16
1.3 Suporte Motor padrao Pro Racing 8 un. Aroela M8
1.4 Controladora Direct Drive 8 un. Porca M8
1.5 Cabo poténcia Motor com 3 metros + Botao de Emergéncia 4 un. M6 X 40
1.6 Cabo Encoder com 3 metros 8 un. Aroela M6
1.7 Cabo Energia Controladora Direct Drive 4 un. Porca M6
1.8 Cabo mini USB controladora 6 un. M5 X 10

1.9Parafusos Fixagao + Porcas 2un. M6 X 16




o~~~ e~ p— p— p— p— p—

PR~ .
= RACHIG,

SHTILILADORES

Check Liste de Produtos a enviar Pedido

1 Lista de itens:
1.9 Parafusos

- 1.1 Servo Motor com Encoder

1.2 Adaptador 70mm eixo motor

1.3 Suporte Motor padrao Pro Racing

1.4 Controladora Direct Drive

1.5 Cabo poténcia Motor com 3 metros + Botdo de Emergéncia

1.6 Cabo Encoder com 3 metros

1.7 Cabo Energia Controladora Direct Drive

1.8 Cabo mini USB controladora

1.9Parafusos Fixa¢ao + Porcas

- 4un. M8 X 35
4 un. M8 X 16
8 un. Aroela M8
8 un. Porca M8
4 un. M6 X 40
8 un. Aroela M6
4 un. Porca M6
6un. M5 X 10
- 2un. M6 X 16

N N N N N S S S S

()
()
()
()
()-
()
()
()
()




03
2 Instalagcao e Montagem

2.1 Primeiramente deve ser feita a montagem do suporte do motor no cockpit,
com os parafusos que acompanham, assim sera possivel posicionar ele em seu
cockpit para fazer a furagdo caso necessario. Furo com broca de aco rapido 8mm.
o suporte permite articulacdo angular de 0 a 20 graus e movimento horizontal até
3 cm. o motor pode ser instalado em qualquer sentido, sendo recomendavel devido
questao estética e ndo atrapalhar a visdo deixar o sentido da saida dos cabos para
os lados, em qualquer sentido.

IMPORTANTE: Na controladora direct
drive deve ser selecionado na chave
seletora a voltagem que sera ligada,
podendo escolher a faixa de 127 ou
220v antes do primeiro uso conforme
o indicativo ao lado.

110V - 240V

2.2 Apo6s a instalagdo do motor no cockpit, pode colocar o cabo de poténcia no
motor, geralmente na primeira instalagao o plug fica virado para a parte traseira,
encaixar e apertar com a rosca, a outra ponta do cabo, o plug verde sera ligado
na controladora.

2.3 O cabo de encoder ligado na parte traseira do motor no sentido para tras do
motor sera ligado no plug DB15 da controladora.

2.4 O cabo micro USB deve ser ligada na controlado ao lado do plug RJ45, sendo
essa conexao de recebimento do FFB do simulador, o outra saida USB é para
configuracdes extras de motor que apenas utilizado na primeira instalacao feita
antes do envio, ou seja, sempre sera utilizada apenas o saida micro usb ao lado
da conexdo RJ45.

2.5 Cabo de Forcga de energia padrao 3 Pinos, deve ser ligada em um filtro de
linha com ATERRAMENTO.



3 — Instalagdo Software Simucube o4

3.1 Link para download.
https://drive.google.com/drive/u/1/folders/1SeuSalrcLo3HJA YxgNE8pwpYOSDWnBD

Meu Drive > Direct Drive ProRacing Arguiv.. ~ = &2+ @ [ : B ©

Pastas Noma T
B Configuragtes Jogos

Arguivos

4

L Simu Cube Firmwara 1.

3.2 Descompactar na area de trabalho, e se preferir alterar o nome da pasta
apenas para SIMUCUBE

3.3 Configuracao do SIMUCUBE

Agora vocé ira fazer a calibracdo do motor definindo o centro, instalando os
parametros necessarios para funcionamento de seu Kit de Direct Drive

IMPORTANTE: Nao conecte nenhum cabo ao volante até o processo estar finalizado
RECOMENDADO: Sempre que for ligar a controladora € recomendavel
deixar sem cabo espiral do volante

7.0 5k
ks

e i e ule w1 -]

= Aresio ipedo
= umsgefonmais
B4 Dewmnicads .
-~ platfcams.
E™ Lres de Trabatho #
« wheeh
11 Documentos o ) berypes-1_ 1.
& Imagent " 1 Whesyl2 o8
£ Google Drive + 21 Whgoe s dwal-14d0
+# Impomacesn ’ o Wbssi-1_1.d0
21 libstdi==-8.cl
& Crnedrve 1 hibwanpthiread- 1,41
B Este Computador & DasConedil :
CR3 Gl .
B e de Trabilhe o e
o CaSHetwearedl
i Dacumented
= TRS5eg.dal
4 Doenloads 2 CaSWidgens 2

2t TSl 40
B rucubie ConfiguratBR Toal 1) et A
;_ Semrmpube Firrrmvars Uer Gunde

E'_' teimuculbd bRd Lier Lol ends_Agieidmant

o Serrucube_Bad User Lezence_Agresmeni

o Eiiid b= Bastlosd . M

< mutube-bocticader_and reset_all nerls

o SamaCLEE diererocare beoilpadable

Zn gslewy 32 A0

. VERSION



SIMUCUB

DPERATING MODE Cperational
ALCTIYE PROFILE: automobdista
E-STOP & MOTOR STATUS: E£-Siop s released

Overvisn Wirgless Wheels |

‘Wheel position
=1.75"°

Reset center {

SIMUCUBE

Profiles | Hardware Advanced |

Analog npuks

Butbons 1-128
00000000000000000000000000000000
CO00o000000000000000000000000000
G0B00000000000000000000000000800

OOGS0000003000000000000GO00 0

OPERATING MODE Cperational o
ACTIVE PROFILE: automobilista
E-STOP & MOTOR STATUS: E-Stopis released.

0%
0%
0%
%
0%
0%

0%

Ovarview | ‘Wirgess wheels | Profiles Hardware Setup pdvanced |

General information

Indexing maode In reference ko initislization
Maximum Mobor Current 13 A

Encoder Counts Per Revolution 40000

Audible notification beeps

Audible notifications enabled r

Deskbop Centering Spring

Centering Spring Strength
USE Settings

USE Suspend suppart
USE Recovery support

Canfigure moter, encader and o

Configure Analog Inputs \

Configure ¥12 button inputs |

Off

ks
disabled
disabled
disabled
digzbled
dissbled
disabled

disabled

05



Cvervew | WirslsssWheels | Profles  Hardwers Sshup

[rndexing mode: In refierenoe to initiafization

Maimim Motar Currant
Encoder Counts Per Revolution

Sudisle notifications enabled

Centering Spring Srangth
USE Settings

USE Suspend support
USE Recovery support

SIMUC

Configurs mokor, encoder and  INtroduction to Motor configuration

06
Advanced |

UBE

This wizard vill help you to configurs your motor and encader., You will also set a centerpoint far your whesl,

Hardware Setup | Advanced |

Configure AAslog INE vy il b abie b et up your Simucubee by selecting & motor configuration file from the provided list or use your
5 - 1 existing configuration stored on khe [ONT drive installed on your Simucube,
- Mote: The waand vl activabe the first profile which can be edibed before trying bo intialze the wheal, This is to
maximize the safety so that the wheel will not start burning after ntiskzstion. It is good practise to dsconnedt sy
LSS cables fram the whesl rim (F any) snd have the E-Stop button close by wihan renning this wizard,
Crwerview | Wirsless Whesls | Profiles
Genetal information
Enwdesding mode: I resferance bo retiakzation
Masrmum Miofor Current
Encoder Counts Per Revolution
Audible notification beeps
Audible notificstions enshled
Deskbop Centering Spring .
Select motor configuration
Centening Sprife Srergth
LISE Settings % Lise existing 10M] configueation as-is,
U Susperd support Select this if you don’t know what you are supposed bo do, or know vour [0H] drive warks already, o you
LS8 Riecovery suppart hawe gatten the system from & distributor pre-assembied, or if you have not changed any physical hardare such a5

e encoder.
Configurs motar, sncoder and

Configura Analeg Ing
Configure %12 button i

7 Use a DRC File bo configure the motor&ancodar

Select DRC file |

Inpak the: Bokor Torgue Constant below For macdmum outplt borgue estimation, Leave ak 0.00 F you don't know this
waue. The estimated value works correctly anby sihen IOMT i configured to use the noming maxdmum current,

[o.00 ]




General information
Irycdecxineg macide
Muscirnien Motor Currest

Encoder Counts Per Revolution
Audible notification beeps

fucdble rotifications enabled
Desktop Centering Spring
Ceriering Spring Strangth
USE Settings

LISB Suspend support
LISE Recovary support

Configure motor, encoder and

Configure Analog Ing

Conifigure #12 button b

General information
Indexing mode
Paimum Motor Current
Encoder Counts Per Riswoliton

Audible notification beeps
Sudible notifications enabiled

Desktop Centering Spring
Carbering Speng Srangth
USE Settings

LISE Suspend support

LISE Risconeny support

Canfigure motor, encoder and

Configure Analog Ing
Carfigure %12 button &

07
Overview | Wireless Wheels | Profles  Hardware Setup | Advanced |

In reference bo inltialization

Select indexing maode,

Choose the method to use for indexing your wheel.

Wil must be approximately cenbered when Simuoube ks powened on, whes| will ba usable forrediately after
Iritization & completed, See Usar Guide For Further information.

£ Marneal, in reference to encoder physical index.
Wheel may be at sy position when Simucube & powered on but must be tumed snough (maximum 160 degress in

:::hﬁectbnj to detect encoder index point sfter phasing for wheel ko be usable. See Liser Guide for further
cemnation.

Mote: If you have system vith an Absolute encoder and you set up bo use the commutation sensor (ater inthis

veizard), your wheel will always work without phasng, ard this selecton makes no difference to the operation of
the syshem.

Cancel [

Cverview | Wireless Wheels | Profles  HordwareSetup | Advanced |

In reference to intiakzation

Warning: Continuing past this page will reset Simucube hardware settings.

Wher you click Next the Strucubs will enter configuration mode, The configuraton wizard st
then ba cormpleted fully for the Skmucube to operate properly,

Note, that profiles will be not daleted or touched. This will only reset the hardware settrgs on
Sirnucubes, Sattings on 10N drve will not be touched, if you did not select a senarate DRC
configuration file for uploading to TONE




08

Setup commutation sensors

Possible absolute encoder (BiSS B, BISS C or 55I) has been detected. With absolute encoders, it is
possible to setup and save automatic commutation sensors.

This means that the wheel is not required to perform the phase search routine at startup and it will be
immediately usable.

with this dialog, you can turn this feature on and off. If you click Next without doing anything, you will

Please disconnect any wheel rim USB cables, as the motor will rotate during the procedure.

Start automatic commutation setup

Disable previously set automatic commutation settings

Process status:

Automatic commutation setup has been previously performed. You can dick Hext to continue.

Next Cancel £

Overview | WrskssWhesls | Frofles  HardwareSetup | Advanced |

General information

Endexing mode: In refierence b initiakzation
Maimim Motor Current
Encader Counte Par Revalition
Budible notification beeps
Audible notifications enablad
Desktop Centering Spring
Centering Spring Srangth
USE Settings MW%MWMN&ME-ﬂWIStM.Wmmmﬂcnt-b.ttm,muiattmpttu
USE Suspend support o=

USH Recovery support

Centar the wheel

Configure mekor, encoder and

Confgure Analog Ing

Configura 412 button b




Crvsrvimw | \Wioless Wheels | Profles  Hardware Setup | Advanced |

General information
Irocherceing ek Inrefarence o inkiaiization
Maximum Motor Current
Encodes Counts Per Fievolution
Audible notification beeps
Auckble notfcations snabled
Desktop Centering Spring

Cerkering Spring Srangth
USE Settings ‘Wheel Is intiaiizing. Do nok bouch the wheed,
LUSE Suspend support Rt of the iretiake stion can be sean belw,

i i Motor initialization complete! Press Next to continue,

Initializing...

Configure motor, ancoder and
Corfigure Analog Inp
Conifigues K12 buktan o

Overview | Wieless Wheels | Profles  HardwareSetp. | Advanced |

General information

Inde:dng moda In reference bo initiakzation
Paeinien Motor Current
Ercoder Counts Par Revolution
Audible notification beeps
Bosdibde notification: enabled
Desktop Centering Spring
Centering Spring Strength
USE Settings Fease center the wheel as accurately as you can and press Next -button,
LISE Suspend support

LISE Recovery support

Set wheel center point

Carfigure motor, encoder and

Configure Anaiog Inp

Configure X12 button i




Cverview | Wireless Wheek | Profiles  Hardware Sstup | Advanced |

General information

Indexing mode In reference to inkisization
Mawirum Motor Cuevant
Encoder Counks Per Revolation
fudible notification beeps
Audible notifications enablad
Desktop Coptering Spring
Centering Speing Strength
UISE Settings You have now successfully configured Simucube's mobor and encoder,

58 Suspend support Yeun hiave 5o et & mede for canter poink,

LISE Recovery suppert Sethngs are also saved bo Srrucube flash memory and the system will initialze automatcally at next startup,

Wizard complate

Configurs motor, encoder and

Configure Analog Ing

Configure X1.2 button b

PROFILES:

IMPORTANTE: Antes de criar os Profiles verifique se aba Overview
0S campos aparecem em verde conforme a imagem abaixo:

DPERATING MODE Cperstional v _

ACTIVE PROFILE: sutorabiista
E-STOP & MOTOR STATUS: E-Stop is relaased,

Cwerview | Wireless Whesls | Frofiles | Hardware Setup | Advanced |

10



Criando os Profiles:

Nessa aba vocé configura todas as forgas e efeitos para cada game
criando os perfis para cada jogo.

E necessario a criagdo de um perfil para que todas as forcas e efeitos
seja atribuida a seu Direct Drive

SIMUCUBE

Crverview Wireless Wheels | Pr

Wheel position
-1.75°

Reset cenker

1 - Clique em Profile
2 - Click em ADD

OPERATING MODE Operabiona
ACTIVE PROFILE: automobiista
E-STOP & MOTOR STATUS: E-Stop s released

§ Hardware Setup | ndv'ar:ed|

Buthons 1-128
ELEEEE R R L R R R
00000000000000000000000000000000
S0000000600050000000000000000000

000000000 00000000000H8 00000000

3 - Crie seu Perfil ou importe algum perfil ja pronto

Exemplo abaixo RFactor 2

0%
0%
%
%

0%

General

Profile name Rfactor 540°

Overall strength 't 0%

Actual max arrent T.72A

Steering rangs |£4G‘- :I

Bumpston feel [soft |

Bumpstop rangs | 540° (Jock-to-Jock)

Filters on TONI drive DirectInput Effects

Simucube Force Reconstruction fiter™ [ 1 Minimum, “fast™ =] Friction 3}

Torgue bandwidth Imit Junimited =] Damping I

Peaking and notch filter Spring I
Center frequency Hz |FEt:r disabled ﬂ Sine wiave J
Attenuation ¢B Jinfirits {notch fite | Square wave £
Q Factor Jo.1 = Sawtooth I%,

Qther Fiters Strength | Triangle 2

Damping _t Off

Friction M| 1%

Inertia = | 1%

Static Force Reduction | 10%

Note: fter sider scale match Smucube 2 True Drive scabng.

Pro Racing Simuladores

“Seja Vocé o Piloto™

walue
disabled
disabled
dissbled
disabled
disabled
disabled

disabled

Strength Active

0%
0%
0%
0%
0%
0%

0%



